MICROSCOPE STAND INSTRUCTIONS +0s.630

Washer

Handlo Install Ring / Bracket Assembly

+ (Fig. 1) Insert the rod into the bottom of the
mounting post, then attach handle.

1. Press Button

- Make sure the washer is under handle.

+ Position handle away from stand arm by lifting
the handle while pressing the center button
(Fig. 2). This does not loosen the handle.

To attach the stand to your work bench, see
Microscope Stand Base Template (page 3).

The microscope body sets into the ring and is
secured by three thumb screws, included.

Install Headrest
Microscope After installing the microscope, attach the headrest
Mounting Ring (Fig- 3). Make sure white nylon washer is between
| and Angle Bracket the T-Knob and the headrest mount. Adjust the angle
Assembly using the side T-Knob; adjust depth using the top
T-Knob. The forehead end may also be adjusted.
— CN;f,’pT iashr Setup and Operation
must be in Atfter the stand is secured to the bench top there are
this position many choices for adjustments to fit your needs. Turn
tension knobs clockwise to add friction, counter-
clockwise to reduce friction.

A. Controls front arm. Tension knob.
B. Controls friction during movement of back arm.

Flg .3 A B Tension knob.

C. Controls angle of microscope on pivot ball.
Loosen to adjust.

D. Adjusts focus. Tension knob.

E. Locks arm height on the stand rod.
F. Controls the drag of the arm swing.
G. Tighten for additional arm rigidity.

G

900 Overlander Road « P.O. Box 1153
Emporia, KS 66801 USA

Headrest Arm

Headrest
Mount

Tension adjustment knobs for focus 800-835-3519 + 620-343-1084
rack. Turn tension knobs clockwise % ]] Fax: 620-343-9640

to add friction, counter-clockwise to E-mail: grs@grstools.com
reduce friction. R www.grstools.com

LIT-130 PAGE 1 of 3



COMPLETE ASSEMBLY
#003-630

)
® 0
1 O
D> /
33/€>
¥

ITEM PART DESCRIPTION ITEM PART DESCRIPTION
NO. NO. NO. NO.

1 003-235 Mounting Base 29 002-398 #8-32 x 3/4" SHCS

2 022-298 1/2"-13 x 1" FHSCS 30 003-262 Threaded Bushing

3 003-160 Microscope Stand Post 31 003-241 Pinon

4 003-556 Collar Assembly 32 003-243 Knob

5 004-544 Knob Assembly 3/8"- 24 33 002-068 #10-32 x 1/4" Set Screw

6 003-228 Back Plate 34 003-242 Cupped Washer

7 003-236 Block 35 003-625 Stem Weldment

8 022-297 Carriage Bolt 36 003-247 Microscope Ball

9 002-623 1/4"-20 Acorn Nut 37 001-425 .312"x .875" x .145" Washer
10 003-229 Spacer 38 022-167 Adjustable Handle 5/16"-18 I.D.
11 003-231 Upper Arm 39 022-294 #10-32x 1 1/2" Screw (SHCS)
12 003-230 Lower Arm 40 003-246 Headrest Mount
13 003-244 Pin 1/4" dia 41 003-238 Microscope Ring (Meiji)
14 022-293 Grip Ring 42 003-587 T-Knob Assembly (1/4"-20 x 5/8")
15 003-239 Spring Anchor 43 003-593 T-Knob Assembly (1/4"-20 x 3/4")
16 002-069 #10 Lock Washer 44 003-192 Arm Mount (Meiji Headrest)
17 002-992 #10-32 x 3/4" Screw (RHMS) 45 002-204 #10-32 Hex Whiz Loc Nut
18 022-296 Extension Spring 46 003-188 Headrest Arm
19 003-232 Middle Side Plate (Right) 47 003-583 Headband Assembly
20 003-233 Middle Side Plate (Left) 48 002-105 #10-32 x 5/8" Screw (RHMS)
21 022-299 Long Adjustable Handle 1/4"-20 I.D. 49 022-301 Belleville Washer
22 022-295 Extension Spring 50 022-303 Thumb Screw
23 003-234 Front Plate 51 022-305 #10x 1 1/2" Screw (FHPWS)
24 003-624 Block Assembly 52 002-203 3/32" Hex Wrench
25 002-757 #10-32 x 1 1/4" Screw (RHMS) 53 002-561 Clamp Knob 1/4-20 Free Spin
26 003-237 Mounting Post 54 022-325 Belleville Washer
27 003-240 Rack 55 022-327 Carriage Bolt 3.25" x 1/4-20

28 002-280 Washer LIT-130 PAGE 20f3



MICROSCOPE STAND BASE TEMPLATE

For Wood Top Benches

Decide where to locate the microscope stand on your bench
top. Make sure there is plenty of “reach” so the microscope is
over your work. Using the template below, tape it exactly where
the base will be located. With a center punch or awl mark the
centers of the screw holes through the paper and into the bench
top. Remove the template and drill a starter hole for the screws
using a 1/8" drill bit. Drill all four holes a little more than 1"
deep. Hold the drill as square to the surface as possible. Attach
the stand to the bench with the 1-1/2" wood screws that are
included in the package. Be sure to tighten the screws so that
the heads rest tight against the metal base. If you are having
trouble setting the screws you probably did not drill the holes
deep enough.

For Metal Top Benches
It is advisable to use 10-32 flat head bolts (not included) with
a length of about 1/2" more than the thickness of your bench

top. Use the template below as described above to locate the USE TEMPLATE TO R
centers and drill 1/4" holes through the bench top. Bolt the LOCATE AND DRILL ~ i N
stand down using washers and nuts on the underside. If the SCREW/BOLT HOLES = 7

bench top is made of a sheet metal with a lightweight substrate
we recommend adding a board or metal plate to the underside
for extra strength.

900 Overlander Road « P.O. Box 1153 « Emporia, KS 66801 USA
Phone: 620-343-1084 + Fax: 620-343-9640 « E-mail: grs@grstools.com
LIT-130 PAGE 3 0of 3



